B.Sc. 5th Semester (Programme) Examination, 2020-2021

CHEMISTRY
Course ID: 51410 Course Code: UGP/SC/504/SEC-3
Course Title: IT Skill for Chemist
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable

1. Answer any five questions: 2x5=10

(a) Find out the Median and Mean for the numbers 4, 6, 8, 10, 12, 14 and 16.
4,6.8.10.12.14 O3 16 - O3 N <10 T4 € 51T =T 54 |

(b) What is the full form of RAM and ROM?

RAM &< ROM &= #[Cl TS 7
(c) What is standard deviation?

2= b <1 2
(d) What is the difference between determinate error and indeterminate error?

== s =6 @ SI=AiEs = ha e 225 %1 2

(e) Find log, log, log, 256
logy logy logy 256 A3 g |
(f) What do you mean by byte and nibble?
35 < Wide 9e1ce <1 @™t 2
(9) What is the full form of ALU? 1 GB =? Bit
ALU QAR 2 1 GB=FS @b ?
(h) Round-off the following number correct up to 4-significant figures.

(i) 5.2056  (ii) 4.50089

FEEE A @TE 5F (8) S12/€92 TR 713@ Aje1 19+ 4
(i) 5.2056 (i) 4.50089



2. Answer any four questions: 5x4 =20

@) (|) F|nd the roots of the equation x*-5x - 6 =0

X° -5x - 6 = 0. A d 9t @ fe a4 |

(ii) Define absolute error.
~s] T b 9e10S 1 (@Rl 2 3*2=s
(b) (i) Write down the difference between primary memory and secondary memory.
Primary memory £ Secondary memory - < SICHY T2l T |
(ii) Convert the following decimal number to binary number
(A) (225)10
(B) (80)10 2+3=5
(225) T2 (80);, CF ARG TS AT |

(c) (i) The burette reading of a sample are 10 ml, 7 ml, 9 ml, 12 ml, 14 ml and 16 ml,
respectively. Calculate the standard deviation from the above data.

OF 5 T A6 “N2 efeT s a9 G 10 ml. 7ml. 9 ml. 12 ml. 14ml & 16 ml | &% 57+ @ fa
TG a0+ fapife Aa <= |
(i1) Define accuracy and precision.

geTel ¢ aeefo™ TR v

(d) (i) Draw the graph of the function y - 3 = x — 2 and show the slope.
-3 =x -2 9 @TAHAlD o ¥4, 992 GTfbra dfe hfms Fa |
(||) Write down the significant figures of 2.63 x 10*.

2.63 % 10 * @z Qi<iog srdas e e w1 2

3+2=5

(e) (i) If the experimental value is 14.75 and the true value is 14.70, then find absolute
error and relative error.

=10 AT 21901 o729+ 14.75 (6@ 2S5 14.70 TCe1, 3519 7= =1 \¢ St <
D ST |

(ii) If f(x) = 2x + 5, then find f(x) + f (-x)?

AW f(x) =2x + 5 2, SR f(x) + £ (-x) QT T AT FF |

3+2=5



(F) (i) Convert 37 and 635 into binary number.
37 &9 635 (F QI ARG “I[ao F4 |

(ii) Convert 10011 into decimal number.
QIR AR 10011 (& TS AT AT #I[a9o +4 |
(iii) Add the binary numbers 11010 and 10111.

11010 A9 10111 - 95 G55 G5 A=A EIsEre] -9 &4 |
24142 =5

3. Answer any one question: 10x1=10
T (T A0 ATIT TEI NS
(@ (i) Compute fol x 3 dx by Trapezoidal method by taking n = 2.
1 3 : —
GWTIT?-'_'.Q'J'O x ? dx - Trapezodial #I@ rod SITLIC (n = 2 A9 &)

(ii) If f(x) = ax + b and f(0) = 3, f(2) = 5, then find the value of a and b.
AWM f(x) = ax + b G2 £(0) = 3, f(2) = 5 T, SIRH a & b AF A W+ FH |

(iii) If y = % then prove that ZXZ—izl—yZ.
._ o d
Ay = E;zzi =, SR A A @, 2x 2 =1 -y ?

4+3+3 =10

(b) (i) Write down the full form of FORTRAN, COBOL and DOS.
FORTRAN. COBOL. & DOS &9 ‘pw?f @1%[ GEN
(i) If f (x) = ax?+ bx + ¢ and f(0) =2,f(1) =1, f (4) =6, then find the value of
a, bandc.
M £ (x) = ax’+ bx +¢ . & f{0)=2. (1) = 1 & f(4) = 6. T, STECH a. b. ¢ 4 1 < fa1 foerer o4 |
(iii) Compute f11'6(x3+1)dx by Simpson’s 1/3 rd rule by taking n = 6.
ST [“°(x® + 1) dx - Simpson’s 1/3 rd #I&(SH MIHTH (0 =6 T9 ) |
3+3+4 =10



